
48423
Installation Instructions 

https://www.carid.com/kargo-master/


Instructions – 48423 

Page 2 

*PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO ASSEMBLING,
INSTALLING, AND USING THIS PRODUCT* 

Warning 

Always check for wires, fuel tanks and lines, brake lines and other important vehicle 
functionality items prior to drilling and installing all products.  

Tools Needed 

Phillips Driver 7/16” Socket and Wrench 

Table of Contents
Parts List  ....................................................................................................................................... 3 
Hardware  ...................................................................................................................................... 3 
Step 1 – Install Shelves  ............................................................................................................. 4-5 
Step 2 – Install Front Hardware  .................................................................................................... 6 
Step 3 – Install Support Gussets  ................................................................................................... 7 
Step 4 – Install Remaining Hardware  ........................................................................................... 8 

Before You Begin 
• Read all instructions.

• ENSURE SAFETY WHILE DRILLING INTO VEHICLE.

• FOLLOW 4869 INSTALLATION INSTRUCTIONS FOR INSTALLATION INTO VEHICLE.



Instructions – 48423 

Page 3 

Parts 

Hardware 



Instructions – 48423 

Page 4 

Step 1 – Install Shelves 
• Determine shelf installation locations. Typically, the bottom

shelf goes on the bottom lance in the side panel.

• The bottom location is typically used when installing the
shelf on top of a wall slide.

• Shelves can be assembled with flanges pointing up to retain
shelf contents, or flanges pointing down to allow the
installation of drawer cabinets. Decide which option is best
for each shelf before attaching to the side panels.

• The rear flange of the shelf has the slot, while the front of
the shelf has the nut pressed into the front flange.

Picture below shows the shelf facing upwards. 



Instructions – 48423 

Page 5 

• Make sure the shelf is oriented properly (nuts in front) before attaching. Press the shelf
down firmly so it is resting solidly and level on the lances in the shelf sides.

• Most common mounting locations are shown below.
Picture below shows the shelves in a downward position. 



Instructions – 48423 

Page 6 

Step 2 – Install Front Hardware 
• Attach the front side of both shelves using 1/4” x 1/2” pan head screws.

• Repeat on both sides.



Instructions – 48423 

Page 7 

Step 3 – Install Support Gussets 
• If installing the bottom shelf on the bottom lance, use the support gussets. If no gusset is

being installed, skip to the next step.

• At the rear of the shelf, slide the gusset between the side panel and the previously
installed shelf so that the flange on the gusset is towards the inside of the shelf.

• Bolt the gusset, the shelf and the side panel together using 1/4” x 1/2” pan head screws
and 1/4" flanged nyloc nuts.

• Repeat on both sides.
*Backside of shelf shown below*



Instructions – 48423 

Step 4 – Install Remaining Hardware 
• Attach the rear of the shelves to the side panels using 1/4” x 1/2” pan head screws and

1/4" flanged nyloc nuts.

• See previous step if a gusset is being installed.

• Repeat on both sides.

Follow instructions from the mount kit to 
complete installation. 

Assembly is now complete. 

Learn more about commercial van equipment on our website.

https://www.carid.com/commercial-van-equipment.html



